Amplifier Gain

V Introduction

In this application, we will plot the gain of the following amplifier circuit, for both the ideal and non-ideal response

C3
C2
R2
Rf
C1
R1
+ +
Vout
Vin e - -
Rin
>restart :
with( DynamicSystems) :
with( plots) :
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Amplifier bandwidth factors
>GBP = 10°:
> LPF := 300 :

V Support Function
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Nonideal Op-Amp effects: Finite open loop gain
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Nonideal error amplifier gain
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V Analysis

> with( DynamicSystems) :

>sysl = TransferFunction(GEA) :

> sys2 = TransferFunction(GEAideal) :

>pl := PhasePlot( sysl, range = 10..100000, hertz = true, legend = "Non-ideal") :
>p2 := PhasePlot( sys2, range = 10..100000, hertz =true, legend = "Ideal", color = black) :

>display(pl, p2)
Freq [HZz]

1. x 10! 1.% 103 1.% 10* 1.% 10°

_20_

_80_

- 90_

Nonideal Ideal




